
ONDERDELEN 
OVERZICHT/PARTS LIST 
Terrasoverkapping / Terrace canopy 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

      
      



Part list:  

 

1. Gutter profile 
12. Intermediate beam (2 x gs 
rubber) 

19. Kupplungsstück Rinne 

2. Wall profile 13. Cover frame 
20. Laubfänger 

3. Finishing click strip 14. Spring steel strip 
21. 90º PVC-Bogen 

15. Polycarbonate 22. Anti-dust tape (dense) 

15A. Glass plate 980 mm 
23. Anti-Staub-Band (offen) 5. Wandprofil Gummi 

6. Plate stopper 16. Rapid concrete (option) 
A. Selbstbohrende Schraube 4x19 mm 

7. Decorative cap gutter (flat, 
semi-circular or classic) 16A. Concrete base (option) 

B. Selbstschneidende Schraube 
4x40 mm 

16B. Concrete base with 
HWA (option 

C. Schlagdübel 8x80mm+Schraube 

17. PVC-pipe ø80 mm 

9. Afdekkap gootprofiel 

10. Side rail (1 x sealing rubber) 
18. Upright 

11. Cover top frame (2 x sealing rubber) 

1. Rinnenprofil 
1. Gootprofiel 

2. Wandprofil 
2. Muurprofiel 

3. Fertigstellung des 
Klickstreifens 

 3. Afwerkkliklijst 
Afwerkkliklijst 

liklijst 
4. Condensate profile long 
4. Kondensatprofil lang 
4. Condensprofiel lang 

5. Wall profile rubber 

5. Muurprofiel rubber 

6. Plaatstopper 
6. Plattenstopper 

7. Sierkap goot (Vlak, 
halfrond of klassiek)  

7. Dekorative Dachrinne (flach, 
halbrund oder klassisch) 

8. Abdeckkappe Wandprofil 
8. Cover cap wall profile 

8. Afdekkap muurprofiel 

9. Abdeckkappe Rinnenprofil 
9. Cover cap channel profile 

10. Seitenschiene (1 x 
Dichtungsgummi) 
10. Zijligger (1 x 
afdichtingsrubber) 

11. Afdekbovenlijst (2 x afdichtingsrubber) 
11. Abdeckung oberer Rahmen (2 x Dichtungsgummi) 

12. Tussenligger (2 x gsrubber)  

12. Zwischenbalken (2 x gs 
Gummi) 

13. Afdekbovenlijst 
13. Abdeckrahmen 

14. Federstahlband 
14. Verenstaalstrip 

15. Polycarbonaat 
15. Polycarbonat 

15A. Glasplaat 980 mm 
15A. Glasplatte 980 mm 

16. Snelbeton (optie) 
16. Schnellbeton (Option) 

16A. Betonpoer (optie) 
16A. Betonsockel (Option) 

16B. Betonsockel mit HWA 
(Option) 

16B. Betonpoer met HWA (optie) 

17. PVC-Rohr ø80 mm 
17. Pvc-buis ø80 mm 

18. Staander 
18. Aufrecht 

19. Coupling piece gutter 

19. Koppelstuk goot 

20. Bladvanger 

20. Leaf catcher 

21. 90º PVC bend 

21. 90º PVC-bocht 

22. Anti-dust tape (dicht) 
22. Anti-Staub-Band (dicht) 

23. Anti-dust tape (open) 

23. Anti-dust tape (open) 

A. Self-drilling screw 4x19 mm 

A. Zelfborende schroef 4x19 mm 

B. Zelfborende schroef 4x40 mm 

B. Self-drilling screw 4x40 mm 

C. Slagplug 8x80mm+schroef 

C. Impact plug 8x80mm+screw 


